Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-11 (2025-26)

Class: 1/sec Max. Marks: 20

Sub: EVS Duration: 45 minutes
Name: Roll No.

Invigilator’s Signature: Date: 13.08.25

General Instructions:

e This question paper consists of 2 pages and 14 questions.
e All the questions are compulsory.

I. Fill in the blanks from the help box. 5X1=5M

taps garden festival of lights  letters = Christmas

The gardener works in a

The plumber mends

Diwali is also called the

People decorate a tree on

A s W N B

A postman brings us

Il. Match the following. 5X1=5M
6. Eid a. medicines ( )
7. Christmas b. seviyan ( )
8. doctor c. 25""December ( )
9. teacher d. gurudwara ( )
10. Guru Nanak Jayanti e. school ( )
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lll. Answer the following questions. 3X2=6M
11. What does a carpenter do?
12. What does a sweeper do?
13. How do people celebrate Diwali?
14. Draw and colour a picture of your favourite festival. 4M

Page 2 of 2




Jindal Vidya Mandir, JSW Hill side township
Weekly test — 11 (2025-26)

findal Vidya Mandir

Class ll/Sec :____ Duration: 45 min
Subject: Mathematics Max. Marks: 20
Student Name: Roll No:
Invigilator’s Signature: Date :

General Instructions: This question paper contains 3 main questions in 2
pages.

All questions are compulsory.

I. Fill in the blanks. 4X1M=4M

1.Largest 3-digit number is

2.Place value of 3in 735 is

3. 458 +0=

4. Standard form of 500 + 60 + 3 =

Il. Compare the following using >, < or = 4X-;-M=2M
1. 254 524
2. 730 825
3. 145 145
4. 875 905
lll. Answer the following. 7X2M =14M

1.Represent 648 on the abacus and write its number name.

H T O
Number name :
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2.Write the numbers in expanded form.

a. 692

b. 805

3.Write in numbers.

a.Three hundred two -

b. Nine hundred fourteen -
4.Arrange the numbers in ascending order.

504 ,840 , 485 , 205

5.Subtract.
516
-2 37

6. Add.

4 hundreds 5 tens 7 ones and 2 hundreds 3 tens 8 ones.

7.There are 485 passengers travelling in a ship.245 more passengers join
them. What is the total number of passengers travelling in the ship?
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Weekly Test-11 (2025-26)

/
s

Class: Il
Sub: Kannada(ll language)

Jindal Vidya Mandir, JSW Hill Side Township

Max Marks: 20

Duration: 45minutes
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-11 (2025-26)

Jindal Vidya * Mandir

Class: Ill/- Max Marks: 20
Sub: Hindi(ll Language) Duration:45min.
Name—————————— Roll no.—-
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Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test-11(2024-25)
Class: IV Duration:45mins
Sub: English Max Marks: 20

General Instructions:
e Read the questions properly.
o Write neatly and legibly.

I. Complete these sentences by writing the correct form of the adjective given

in brackets: 5X1=5M
1. He is the (wise) man that | have ever known.

2. The roads in the capital are (broad) than anywhere else.
3.Gold is (expensive) than silver.

4. Chintu is (young) than Pintu.

5.This is the (heavy) jacket that | have ever worn.

Il.LAnswer the following in 2-3 sentences: 5X2=10M

1. How did the dragon wake up?

2. What is the task that the poet is doing?

3.Why do you think the poet chose the name ‘Scratchaway’for this cat?

4 Where (;lid the dragon go?

5.What happened to the valley when the dragon sneezed?

lll. Answer the following in 3-4 sentences: 2X2%=5M

1.Why does the poet say that ‘Pepperpot’ would be a good name for the tabby
cat?

2. How do you know that people were not scared of the dragon rock?
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Jindal Vidya Mandir, JSW Hill Side Township

Q.

s i Weekly Test-11 (2025-26)
Class: V Duration: 45 minutes
Sub: GK Max Marks: 20

General Instructions:

o The question paper consists of 2 page and a total of 20 questions.
e All questions are compulsory.

I Fill in the blanks with a suitable answer. 5X1=5
1. Itiscarved by the Colorado River in the state of , USA.
2. The Rock located in Australia is the world's largest
monolith.
3. international airport is built on its own island after the
land was reclaimed.
4. The language Khmer has the largest alphabet in the
world which is 74 characters long.
5. , Father of the Nation was assassinated on 30 January
1948.
Il. Unscramble the letters of the following. 5X1=5
6. A (EOTPHSECSTO) is an instrument used by a doctor
to listen to your heartbeat.
7. A (EMRHTOTRMEE) is an investment used to measure
your body temperature.
8. A (LTEEPOCES) is an investment which helps in viewing
and studying stars.
9. A (CNEPOEDSO) is an instrument to inspect inside the
human body.
10. A (SIMRCOCOEP) is an instrument used to make very
small objects look large through lenses for scientific examination and study.
lll. State whether these facts are true or false. 5X1=5

11. Marsis also called 'Red Planet'.
12. Edwin Aldrin was the first person to set foot on the moon.
13. India's first unmanned mission to the moon in 2008 was Chandrayan-1.
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14. Mercury was the first planet to be discovered with the telescope.

15. NASA's space shuttle which has made maximum trips to space is named
Discovery.

IV. Identify the pictures given below and name them. 5X1=5

o

16.

18.

20.
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) / Jindal Vidya Mandir, JSW Hill Side Township
W Weekly Test-11 (2025-26)
Class: VI Duration: 45 min
Sub: Mathematics Max Marks: 20M

e General Instructions:
e This paper consists of 2 pages.
e All questions are compulsory.

I.  Fill in the blanks. 6X1M=6M
1. A number that is greater than all its adjacent cells is called a

2. The digit sum of the number 5683 is
3. A number that reads the same forwards and backwards is called a

4. In a pictograph, each picture or symbol represents a certain number of

5. In a bar graph, all bars must be of width and equally spaced.

6. The number 6174 is known as the constant.
Il. Do asdirected. 4x2M=8M

7. Fill a table such that the cell having the second largest number is not a
supercell.

8. What is the sum of the largest and smallest 5-digit palindrome? What is their
difference?

9. Starting With 0, players alternate adding numbers between 1 and 3. The first
person to reach 22 wins. What is the winning strategy now?

10. Write one 5-digit number and two 3-digit numbers such that their sum
is 19,870.
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lll. Do as directed. 2X3M=6M

11. Rakesh is playing with a dice. He threw the dice 40 times and noted the
outcomes as follows:
1,2,1,5,3,5,5,3,2,2,1,6,6,6,4,6,3,5,2,3,3,4,2,1,5,5,2,4,5,5,2,4,1,6,6,1,5,6,1,5
Prepare a table using tally marks.

12. Marks scored by Ramya in 5 subjects out of 50 marks. Represent the given
data in a bar graph.

Subject | English | Hindi Math Science | Social Science
Marks 45 35 20 40 25
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Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test-11 (2025-26)
Class: Vi Duration: 45 min.
Sub: Hindi (Il Lang) Max Marks: 20
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Jindal Vidya Mandir

Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test - 11 (2025- 26)

Class; Vil M.Marks:20
Subject: Kannada (Il Language) Duration:45 min
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\T\% Jindal Vidya Mandir, JSW Hill Side Township

— Weekly Test- 11 (2025-26)
Class: VIl Duration: 45 minutes
Sub : English Max Marks: 20

General Instructions:

o All questions are compulsory.

A. Answer the following questions: (any 3) (3x3=9M)

1.

A

3.

4.

Why did Bepin Babu change his mind about meeting Chunilal? What was
the result of this meeting?

Bepin Babu lost consciousness at Hundroo Falls. What do you think was
the reason for this?

Why do you think Chunilal did what he did? Chunilal says he has no
money; what is it that he does have?

How do you think Bepin Babu reacted when he found out that Chunilal

had tricked him?

B. Write any one (5)

1.

Or

You are the Head Boy / Head Girl of Aditya Sky High School. Your
school is organizing an Inter-House Debate Competition. Write a notice
informing students about the event. Give necessary details such as date,
time, venue, and whom to contact for participation. Write the notice in

about 60 words.

Your school recently organized a Tree Plantation Drive as part of an
environmental awareness campaign. Write a report on the event to be
published in your school magazine. Mention the date, activities,
participants, and the importance of the event. Word limit: 100-120 words.

C. l. Add a suitable premodifier to expand each noun phrase: (3)

1.

My brother studies in a reputed school.

2. | am reading the latest novel by J.K. Rowling.
3. We went to see the magnificent Rashtrapati Bhavan on Republic

Day.
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ll. Underline the postmodifier in each sentence: (3)

1. Boys sitting in that corner helped me fill the form.
2. Do you like the food with its tangy taste?
3. Lenny loves eating vegetables with a lot of cheese.
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Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test - 11 (2025 - 26)
Class: IX Duration: 45 minutes.
Subject: Science Max. Marks: 20

General Instructions:
» This question paper consists of 1 page.
> All questions are compulsory.

I. Choose the correct answer from the following. 5X1=5M
1. __ s the Latin name and symbol of copper
A. Cuprum, Cu B. Cerium, Ce. C. Copernicium, Co. D. Cerium, Cu

2. The inertia of an object tends to cause an object:

A. to increase its speed B. to decrease its speed

C. to resist a change in its state of motion D. to decelerate due to friction

3. If hydrogen and oxygen combine in the ratio of 1:8 by mass, what mass of oxygen
would be required to completely react with 10 gm of hydrogen?

A. 100 gm. B. 80 gm. C.10 gm. D. 180 gm

4. A fielder pulls his hands backwards after catching the cricket ball. This enables the fielder

to:
A. Exert larger force on the ball B. Reduce the force exerted by the ball

C. Increase the rate of change of momentum D. Keep the ball in hands firmly

5. Which of the following statements best explains why a person is pushed backward when

firing a gun?
A. The bullet pulls the person backward.
B. There is unbalanced force acting on the bullet only.

C. The force exerted by the bullet on the person is greater than the force applied by the

person.
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D. The gun exerts a backward force on the person equal and opposite to the force applied

on the bullet.

Il. Answer the following questions.

1. Why meristematic cells have a prominent nucleus and dense cytoplasm but they lack
vacuole? 1M

2. We get a crunchy and granular feeling, when we chew pear fruit. Answer with a suitable
reason. iM

3. What are the different types of molecules based on atomicity? Give examples. 2M
4. a) State law of conservation of mass. 1M

b)5.2 g of substance A reacts with 2.7 g of substance B to produce 7.9 g of substance AB.
How would you justify the result in agreement with law of conservation of mass? 2M

5. Water hyacinth floats on water surface. Explain. 2M
6. Differentiate between cardiac muscle and cartilage. 2M
7. Explain universal law of gravitation in detail. 2M
8. a). Steel sinks in water but a steel boat floats. Why? 1M

b). Explain why, school bags are provided with wide straps to carry them 1M
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p— Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test - 11 (2025 - 26)
Class: X Duration: 45 min
Subject: Mathematics Max. Marks: 20 marks

General Instructions:

This question paper consists of 2 pages with IV main questions.
All questions are compulsory.

Choose the correct answer: 1X5=5

1. If the sum of the first n terms of an AP is S,, = 2n?+5n, then the common difference
is: .
(a) 3 (b) 4 (c)5 (d) 7
2. The coordinates of the point which divides the line segment joining the points (4,-3)
and (9,7) in the ratio 3:2 internally are: .
(a) (7,3) (b) (3,7) (c) (-7,-3) (d) (-3,-7)

3. A line intersects the y-axis and x-axis at P and Q, respectively. If (2,-5) is the mid-
point of PQ, then the coordinates of P and Q are respectively: ‘ E
(a) (0,4) and (5,0) (b) (0,-10) and (4,0) Ce
(c) (0,10) and (-4,0) (d) (0,-10) and (-4,0)
4. In the given figure, ABAC is similar to : A e,
(a) AAED (b) AEAD (c) AACB (d) ABCA

5. Assertion (A): The sequence -1,-1-1,...,-1 is an AP.
Reason(R): In an AP, a, - a,-1 is constant where n>2 and neN.

a) Both Assertion and Reason are correct and Reason is the correct explanation for

Assertion.

b) Both Assertion and Reason are correct and Reason is not the correct explanation for
Assertion.

c) Assertion is true but the reason is false.

d) Both assertion and reason are false.
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I Do as Direct 2X3=6

5.InanAPifa=1,a,=20andS, =399, find n.

6. In the adjoining fig. DE| | AB. Find the value of x.

7. In what ratio does the point (- 4, 6) divide the line segment
joining the points A(— 6, 10) and B(3, — 8)?

Il Answer the following 3X2=6

8.InFig. 6.9, if £1 = £2 and ANSQ = AMTR,
then prove that APTS ~ APRQ.

9. Name the type of quadrilateral formed (if any) by
the points (4, 5), (7, 6), (4, 3), (1, 2) and give
reasons for your answer. ™

IV: CASE STUDY: 3X1=3

To promote cleanliness and greenery, the students r F
of a school are given a task to plant saplings in the
garden. They decide to arrange the saplings in a
particular pattern to form a flower bed. The
number of saplings in the first row is 5, in the
second row is 7, in the third row is 9, and so on.

Based on the above information, answer the
following questions.

(@) How many saplings are there in the 10th row? (Imark)
(b) If there are 20 rows in total, what is the total number of saplings? (1mark)

(c) If the total number of saplings is 275, find the number of rows.  (1mark)
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